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Summary

Environmental Industries are increasingly important:
EU turnover >€250bn; 3.4 million jobs;
Market growth 1999-2004: 7%

Germany is leading in Europe and globally
German market share = 5 X UK market share

The existence of this market is entirely policy driven

Which policies did Germany use!



Case studies of 4 areas

Fuel-efficient | Low-Energy Recycling Renewable

Diesel Cars Buildings Energies
Taxes [ Price Car Tax, Eco Eco Tax Raw Material Oil Price
Mechanism Tax, Oil Price Oil Price Prices
Other dominant Standards, Regulation Feed-in Tar-
instruments Subsidies ifts, Subsidies
Growth ++ + ++ ++
Employment + ++
Innovation + + ++ ++
Export ++ + ++ ++
Environmental
Impacts ¥ = ¥ =

Taxes played a role

in all cases....

as did regulation




Comments

® Policy effectiveness

® Welfare implications
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Policy effectiveness

® Can we really say from German case alone
which policies matter?

® Would be good to know if we only need a
tax: subsidies expensive, regulation can be
inefficient

Figure 2: Renewable share in countries WITH feed in tariff Figure 3: Renewable share in countries WITHOUT feed in tariff
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Welfare implications

VWVelfare

Employment

Innovation in El Tomorrow

Today + -

To get positive welfare effects today we need strong
“secondary” market failures; e.g.

* Existing tax distortion
* Monopolies in (world) energy markets
* Barriers to innovation

* |mportantly: these need to be worse for El than other
sectors
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Figure 1.3: Biotech sector as share of total
pharmaceutical market, 2000-2004
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Source: The Biotechnology Market Outlook
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® |f policy makers are too optimistic about
growth and employment effects which don’t
materialise there might be a public backlash
against environmental policies

® Climate Change and war...

Not Churchill:“VVe need to fight the war
because it will increase employment and
productivity in the Military Industry”



